GRE - Bug #3103

Explanations are not seen for questions
06/24/2025 12:09 PM - jayanthy ramakrishnan

Status: Resolved Start date: 06/24/2025
Priority: High Due date:
Assignee: Sindhuja QA % Done: 0%
Category: Estimated time: 0.00 hour
Target version: Spent time: 0.00 hour
factor: Unclear / Missing / Incorrect product

Requirements

Description
https://app.entrayn.com/summary/2f3f6¢88-6270-47ba-b47e-462ce0f7675b/screen/8

Explanation

Four of these points are joined to each of the remaining six points
a,b,c,d are joined to e,f,g,h,ij each

Number of segments =4 x 6 = 24

Each of the remaining six points is joined exactly to five points
Remaining six are already joined with four points.

ie., The remaining 6 points (e,f,g,h,ij) are already joined to those 4 points (a,b,c,d). We need 1 more for those 6 points.

Thiie Aanhs fuin nat ininad nainte ~an ha iead ta malba o lina canmant

History

#1 - 07/02/2025 06:30 AM - Sindhuja QA

- factor Unclear / Missing / Incorrect product Requirements added

This issue has been fixed.

#2 - 07/02/2025 06:30 AM - Sindhuja QA

- Status changed from New to Resolved

Files

clipboard-202506241739-1f4Ix.png 44.6 KB 06/24/2025 jayanthy ramakrishnan

07/04/2025 1/1



https://app.entrayn.com/summary/2f3f6c88-6270-47ba-b47e-462ce0f7675b/screen/8
http://www.tcpdf.org

